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Discussion on SATK in R’99

At the beginning of TSG T3 work, it was specified that the support of SAT (SIM Application Toolkit) would have a priority 1 in the work plan (Tdoc T3-99028).

Then it was seen that SAT might be more difficult than expected to integrate with some features of the USIM.

The main problem, as listed in Tdoc T3-99240, seems to be the compatibility with the support of multiple USIM feature. However, it is understood that it is not a Release ’99 feature. The other problems which are listed in this document are more of a editorial nature.

A part of the GSM community feels uncomfortable with SAT not being a part of 3GPP phase 1 and does not understand why the multiple USIM feature has more priority than SAT.
On the other side, it seems not to be demonstrated that all the problems related to multiple simultaneous connections are solved today (in particular in the terminal and at the radio side).

A simple principle is proposed here that could allow to cope with both needs:

- The terminal at the beginning of a session is able to detect unambiguously the number of USIM applications present in the card.

· if only one USIM application is present the SAT is applied as specified in GSM 11.14

· if two or more USIM applications are present in the card, a UMTS phase 1 terminal may refuse to use SAT and present itself as a non-SAT device. A phase 2 terminal shall apply an adapted SAT.

In this perspective, SAT could have to be enhanced for phase 2 and then need additional developments, as it is usually the case when several phases are defined for introduction of features.

But in turn it would allow to use SAT from the beginning, when multiple USIM is not needed.

With one or two drafting sessions, we could easily define the first phase of USAT within Release ‘99, considering the single USIM case, T=0 protocol.

Then The USAT work item would focus on integrating USAT with multiple USIM and T=1.
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